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(B3 801 205 596 [EN T 3,069 1,523 1546 |1 [FRERX 23 5 18
2 |EHE 45 3 42 2 [iEeh 41 6 35 PGETS 84 8 76
3 [5FE 73 13 60 3 [Fhimth 14 3 11 3 |BX 543 188 355
4 |=EiEE 78 14 64 4 |BEH 224 31 193 4 | FERX 2,175 663 1512
5 AR 30 5 25 5 )l 112 36 76 5 | XEHERK 158 53 105
6 [LLFzE 26 3 23 6 [tEERE™ 14 0 14 6 [BEEREKX 993 451 542
1 |RER 85 8 77 RE = 540 129 411 ETETSS 871 341 530
8 |RE 121 8 113 8 [m#kth 868 254 614 8 IERX 60 37 23
9 [HEARE 248 12 236 9 | K 4,083 2,153 1,930 | 9 [SRIIX 183 46 137
10 [HEEE 98 15 83 10 [3Rd 33 1 32 10 [HERX 35 9 26
1 [BEE 257 19 238 |11 [#Fm™m 95 21 74 11 [ KARX 114 47 67
12 |[FER 664 56 608 |12 |Eth 55 7 48 12 [{HHAX 283 7 212
13 | B4R 282 40 242 13 |[[LETh 368 197 171 13 X 1,092 361 731
14 [#=JIE 285 50 235 14 [)IlIOHh 15 6 9 14 [FEFX 262 110 152
15 [FiRE 157 7 150 |15 |[)\EFmh 35 10 25 15 (&2 252 63 189
16 [EILE 90 5 85 16 [##28&h 47 1 46 16 [EBEX 1,211 397 814
17 |[BIIE 30 1 29 17 |&iRt 59 22 37 17 [k 255 87 168
18 |fBHE 21 3 18 18 |24t 3 0 3 18 I 94 43 51
19 [ILBE 216 23 193 19 |—= 3 0 3 19 [#RIEX 293 98 195
20 [EHE 102 8 94 20 |[#xATH 15 1 14 20 [FEX 69 11 58
21 [IFE IR 146 16 130 |21 [J\Eh 3 0 3 21 [RIX 99 32 67
22 [ERMEE 256 22 234 |22 [BEEIIH 3 2 1 22 |BfiX 278 131 147
23 [BEHE 83 8 75 23 |WRHETH 11 2 9 23 IR 254 94 160
24 [=F 8 111 10 101 24 [IER&™ 1 0 1
25 |HER 134 18 116 | 25 |G 5 0 5
26 |ARAF 53 4 49 26 [B=ET 1 0 1
27 | KR AF 153 13 140 |27 |BAFETH 0 0 0
28 |[EER 46 4 42 28 |[ERH 51 5 46
29 [ =ERER 135 8 127 |29 |EHH 10 1 9
30 |F0FRILIE 283 83 200 |30 [BE#H 16 7 9
31 [ERE 21 2 19 31 |E%0mh 17 2 15
32 |BRE 55 6 49 32 [FEh 403 62 341
33 |REWIE 33 7 26 33 [ATHT 17 3 14
34 [[LER 118 19 99 34 |EER™ 44 4 40
35 [lLOE 39 2 37 35 |F4IBmH 15 2 13
36 [EER 43 5 38
37 [BIE 99 15 84
38 [BER 92 16 76
39 (SR 36 3 33
40 |fER R 1,481 640 841
4 [EER 28 6 22
42 |[RIFIE 128 35 93
43 |FERIR 82 16 66
4 | K8 82 27 55
45 [FIFIE 59 6 53
46 EEIRBE 136 20 116
47 |hfEIR 1,198 272 926
8,839 1,781 7.058 10,290 | 4.491 5,799 9,681 3,346 6,335
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